UNITED STATES SECURITIES AND EXCHANGE COMMISSION Washington, D.C. 20549

SCHEDULE 13D

Under the Securities Exchange Act of 1934 (Amendment No. 3)

(Orion	Energy	Systems,	Inc.

(Name of Issuer)

Common Stock

(Title of Class of Securities)

686275108

(CUSIP Number)

Peter H. Kamin Revocable Trust 2720 Donald Ross Road, 311 Palm Beach Gardens, FL 33410

(Name, Address and Telephone Number of Person Authorized to Receive Notices and Communications)

June 12, 2019

(Date of Event Which Requires Filing of this Statement)

If the filing person has previously filed a statement on Schedule 13G to report the acquisition that is the subject of this Schedule 13D, and is filing this schedule because of §§240.13d-1(e), 240.13d-1(f) or 240.13d-1(g), check the following box. []

Note: Schedules filed in paper format shall include a signed original and five copies of the schedule, including all exhibits. See §240.13d-7 for other parties to whom copies are to be sent.

The information required on the remainder of this cover page shall not be deemed to be "filed" for the purpose of Section 18 of the Securities Exchange Act of 1934 ("Act") or otherwise subject to the liabilities of that section of the Act but shall be subject to all other provisions of the Act (however, see the Notes).

^{*} The remainder of this cover page shall be filled out for a reporting person's initial filing on this form with respect to the subject class of securities, and for any subsequent amendment containing information which would alter disclosures provided in a prior cover page.

<u>CUSIP No</u> . 686275108				
1. Name of Reporting Persons: Peter H. Kamin Revocable Trust				
2. Check the Appropriate Box If a Member of a Group	a. □ b. □			
3. SEC Use Only				
4. Source of Funds: working capital				
5. Check If Disclosure of Legal Proceedings Is Required Pursuant to Items 2(d) or 2(e)				
6. Citizenship or Place of Organization: US				
Number of Shares Beneficially Owned by Each Reporting Person With				
7. Sole Voting Power: 1,454,600				
8. Shared Voting Power				
9. Sole Dispositive Power				
10. Shared Dispositive Power				
11. Aggregate Amount Beneficially Owned by Each Reporting Person: 1,454,600				
12. Check If the Aggregate Amount in Row 11 Excludes Certain Shares				
13. Percent of Class Represented by Amount in Row 11: 4.9%				
14. Type of Reporting Person:				

Item 1. Security and Issuer

This statement relates to shares of the Common Stock, (the "Shares"), of Orion Energy Research, Inc., a Wisconsin corporation (the "Issuer"). The address of the principal executive offices of the Issuer is 2210 Woodland Drive, Manitowoc, Wisconsin 54220.

Item 2. Identity and Background

- (a) This statement is filed by the Peter H. Kamin Revocable Trust.
- (b) The principal business address of the Reporting Person is 2720 Donald Ross Road 311, Palm Beach Gardens, FL 33410.
- (c) Peter H. Kamin manages investments on behalf of himself and his family.
- (d) The Reporting Person, during the last five years, has not been convicted in a criminal proceeding (excluding traffic violations or similar misdemeanors).
- (e) The Reporting Person has not, during the last five years, been a party to a civil proceeding of a judicial or administrative body of competent jurisdiction and as a result of such proceeding was or is subject to a judgment, decree or final order enjoining future violations of, or prohibiting or mandating activities subject to, federal or state securities laws or finding any violation with respect to such laws.

Item 3. Source and Amount of Funds or Other Consideration

The source of funds used in purchasing the Common Stock was working capital. The total cost for purchasing the Common Stock was \$1,193,000.

Item 4. Purpose of Transaction

The Reporting Person acquired the Common Stock reported on this Schedule 13D for investment purposes. Effective June 12, 2019, the Reporting Persons ceased to be the beneficial owner of more than 5% of the Shares of the Issuer.

Item 5. Interest in Securities of the Issuer

- (a) The Reporting Person beneficially owns 1,454,600 shares of Common Stock, which represents approximately 4.9% of the Company's outstanding shares of Common Stock.
 - The percentage ownership of shares of Common Stock set forth in this Schedule 13D is based on the 29,601,669 shares of Common Stock reported to be outstanding as of May 31, 2019 by the Company in its Form 10-K as filed with Securities and Exchange Commission.
- (b) Peter H. Kamin has sole voting power and sole dispositive power with respect to all of the shares of Common Stock held by the Reporting Person.
- (c) Not Applicable
- (d) Not applicable.
- (e) Not applicable.

Item 6. Contract, Arrangements, Understandings or Relationships with Respect to Securities of the Issuer

None

Item 7. Material to be Filed as Exhibits

Appendix 1 Reflects Transactions in the Shares of the Issuer in the last 60 days

SIGNATURE

After reasonable inquiry and to the best of my knowledge and belief, I certify that the information set forth in this statement is true, complete and correct.

PETER H. KAMIN REVOCABLE TRUST

Peter H. Kamin By: <u>/s/</u>

Date: <u>June 12, 2019</u>

Authorized Person

Appendix 1

<u>Date</u>	Shares Sold	<u>Price</u>	<u>Total Value</u>
6/4/19	156,200	2.45	382,700
6/5/19	90,000	2.46	221,400
6/6/19	294,000	2.78	817,320
6/7/19	116,000	2.80	324,800
6/10/19	196,000	2.77	542,920
6/11/19	132,500	2.77	367,000
6/12/19	192,000	2.91	559,300